
Masks Up
Cases more than 10/100,000 population=
More than 6 new cases a day on a 7 day rolling average
How do we move to YELLOW?

o a consistent 3 weeks of less than 6 new cases a day

Mask Optional
Cases less than 10/100,000 population= 
Less than 6 new cases a day on a 7 day rolling average
How do we move to GREEN?

o a consistent 3 weeks of 1 new case a day or less

Mask Free
Maintaining cases less than 1/100,000= 
Less than 1 new case a day on a 7 day rolling average  
How do we stay in the GREEN?

o Practice-be aware, stay vigilant, be careful 


